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Hints:

Use sin?(u) = 3(1 — cos(2u))
2(u) = 1 — cos?(u).
(1 — cos(2u)).

Use sin”(u

Use sin?(u) = §

Let u = sin(7z).

Let u = sin(7z).
u

Use sin(u) cos(u) = 1 sin(2u), sin?(u) = 1(1 — cos(2u)), and/or cos?(u) =

Use cos?(u) = 1 — sin?(u).
Write tan(u) = sin(u)/ cos(u).
Use tan?(u) = sec?(u) — 1.

Multiply by % :

Let u = Tx.

Let u = Tx.

Use tan?(u) = sec?(u) — 1.
Let u = tan(
Let u = tan(?x)
Let u = sec(7zx).

Simplify first.

Let u = sin(x).

Let u = 2%

Let 2 = tan(u).

Use cos?(u) + sin?(u) = 1.

Let 2 = (v/5) cos(u).

Let x = sec(u)

Let z = tan(u).

IBP: Let f = csc( ) and g = csc?(z).
Use cos?(u) + sin?(u) =
IBP: Let f = cos™!(2x) and g = z. Follow up with trig sub.
Simplify first.

IBP: Let f =22 and ¢’ = 2*. You’ll need to do IBP again.
Let 5z = sec(u).

Let 2z = sin(u).

Expand.

Let w = 1 + cot(z).

Separate into [ o7 do and /
Let u=1+=z.

Simplify first.

Let w = ¢ — 2. Expand and simplify.
Let z = sin(u).

Letu — 22 —2—6

IBP: Let f = 2z and ¢’ = cos(2z).

IBP: Let f = In(z) and ¢/ = z~1/2.
IBP: Let f = tan~!(5x) and ¢’ = 1.
This is one of our elementary integrals.
Let 2/v/6 = sin(u).

Led 4z% = cos(u).
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Let u = z2 + 1.

Multiply by (csc(z) + cot(z))/(csc(x) + cot(x))
Let u = cot(x)

Complete the square of the denominator.
Partial fractions: 22 —x — 6 = (z + 2)(z — 3)
Let u =1+ 22

Use sin(2z) = 2sin(x) cos(x).

IBP: Let f = 2 and ¢/ = e%*

IBP: Let f = (In(x))? and ¢’ = 1.

This is one of our elementary integrals.

IBP: Let f =sin"1(3z) and ¢’ = .

Let u = 422 + 1.

IBP: Let f =In(2z) and ¢’ = x.

IBP twice, then let I = [ €3% cos(2z) dz and solve algebraically for I
Let /2 = tan(u).



